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Peer Gynt Second Suite

4. Solveig's Song
Edvard Grieg op 55 no 4 arr. Ioan Dobrinescu






 



 3

 

          

             

                   

                  
 

                             

                            

   

http://www.free-scores.com


p

Poco meno q = 56D39

p

43

pp mp

poco rit. q = 6046

p p

q = 64 q = 58 poco rit. 51

pp

Allegretto tranquillamente q = 112

E56

p pp

poco rit. 60

Andante q = 60
Andante q = 58F68

pp

72









 





 





  




               

              

                        

                   

       

               

    



Oboe2

http://www.free-scores.com

